Lec. 13 - Product Theorem Proof

Thursday, June 6, 2024 10:22 PM

Proof of Product Theorem

$$S_{N} := C_{0} + C_{1} + C_{2} + \cdots + C_{N}$$

$$= \mathcal{A}_{0} + b_{0} + (\mathcal{A}_{0}b_{1} + \mathcal{A}_{1}b_{0}) + (\mathcal{A}_{0}b_{2} + \mathcal{A}_{1}b_{1} + \mathcal{A}_{2}b_{0}) + \cdots + C_{N}$$

$$C_{0}'' + (\mathcal{A}_{0}b_{N} + \mathcal{A}_{1}b_{N-1} + \cdots + \mathcal{A}_{N}b_{0})$$

$$C_{N}$$

$$C_{N}$$

$$= a_{0} (b_{0} + \dots + b_{N}) + a_{1} (b_{0} + \dots + b_{N-1}) + a_{2} (b_{0} + \dots + b_{N-2})$$

$$f \dots + a_{j} (b_{0} + \dots + b_{N-j}) + \dots + a_{N} b_{0} = S_{N}$$
Shart there is

$$B_{j} = \sum_{i \ge 0}^{j} b_{i} \qquad S_{N} = a_{0}B_{N} + a_{i}B_{N-1} + \cdots + a_{j}B_{N-j} + \cdots + a_{n}B_{n}$$
for $0 \le j \le n$

define
$$B_j := B - B_j$$
 since $B_j \rightarrow B$, $B - B_j \rightarrow c$ as
 $j \rightarrow c$
 $D = \int_{j} < Small for some large j$
 $Ob Serve;$
 $S_N = (A_0 + \cdots + A_N)B - \{A_0 B_N + A_1 B_{N-1} + \cdots + A_N B_0\}$
 $N \rightarrow +\infty \rightarrow A - B$
 $N \rightarrow +\infty$
 $M \rightarrow c$
 $M \rightarrow c$

Start

Let
$$Y_{1} > N$$
 for a first in the dist
 $Q_{1} Q_{1} + \dots + d_{N} Q_{1}$
 $Q_{2} Q_{1} + \dots + d_{N} Q_{2}$
 $P = d_{N} q_{N} Q_{N} + \dots + d_{N} Q_{N}$ if dead
 $g_{N} = g_{N} q_{N} Q_{N} + \dots + d_{N} Q_{N}$ if dead
 $g_{N} = g_{N} q_{N} Q_{N} + \dots + d_{N} Q_{N}$ if dead
 $g_{N} = g_{N} q_{N} Q_{N} + \dots + d_{N} Q_{N}$ if $d_{N} q_{N} q_{N}$

$$\begin{aligned} \mathcal{N}_{o} \quad \frac{1}{j!(n-j)!} &= \frac{1}{n!} \circ \frac{\pi n!}{j!(n-j)!} = \frac{1}{\pi n!} \binom{n}{j} \\ & \circ \quad \left(\prod_{n=2}^{n} \prod_{j=0}^{n} \binom{n}{j!} \binom{n}{j!} \chi^{j} \chi^{n-j} \right) \\ &= \frac{1}{n!} \sum_{j=0}^{n} \binom{n}{j!} \chi^{j} \chi^{n-j} = \frac{1}{n!} (\chi_{i+j})^{n} \\ \\ & \text{Thud} \quad e^{\chi} \cdot e^{\chi} = \sum_{n=6}^{\infty} \frac{(\chi_{i+\gamma})^{n}}{n!!} = e^{\chi_{i+\gamma}} \\ & e^{\chi} \cdot e^{\chi} = e^{\chi_{i+\gamma}} \end{aligned}$$

Define:
$$(OS(O)) := \sum_{m=0}^{\infty} (-1)^m \frac{O^{2m}}{(2m)!} \leftarrow Converges}{absolutely}{fan} and O$$

$$Sh(O) := \sum_{m=0}^{\infty} (-1)^m \frac{O^{2m+1}}{(2m+1)!} \wedge A$$

We want to communic our relives

$$\begin{array}{c}
-1 \leq \cos 0 \leq 1 \\
-1 \leq \sin 0 \leq 1
\end{array}$$
Afftha garea theorem gives $(\sigma_{s}^{2}(0) + \sin^{2}(0)) = 1$
Tratition
$$\begin{array}{c}
\hline
& & & \\
\hline
& & \\$$

$$C_{n} = \sum_{k=0}^{n} (i)^{k} \frac{\partial^{2k}}{(2k)!} (-1)^{n} \frac{\partial^{2k}}{(2(n+k))!}$$

$$= \frac{(-1)^{n}}{(2n)!} \frac{\partial^{2k}}{(2n)!} \frac{\partial}{\partial x} \left(\frac{\partial}{\partial x}\right) (2(n+k))!$$

$$= \frac{(-1)^{n}}{(2n)!} \frac{\partial^{2k}}{\partial x} \frac{\partial}{\partial x} \left(\frac{\partial n}{\partial x}\right)$$

$$C_{n} = \frac{(-1)^{n}}{(2n)!} \frac{\partial^{2k}}{\partial x} \left(\frac{\partial n}{\partial x}\right)$$

$$Dov f = a_{n} p v t e C_{n} \left(p_{n} \cdot Sin\left(\theta\right)\right)$$

$$Sin\left(\theta\right) = \sum_{k=0}^{\infty} (-1)^{k} \frac{\partial^{2k+1}}{(2n+1)!} \cdot (-1)^{n+k} \frac{\partial^{2n} 2n+1}{(2n-2k+1)!}$$

$$= (-1)^{n} \frac{\partial^{2k+1}}{(2n+1)!} \cdot (-1)^{n+k} \frac{\partial^{2n} 2n+1}{(2n-2k+1)!} = (-1)^{n+2} \frac{\partial^{2k+1}}{(2n-2k+1)!} = (-1)^{n} \frac{\partial^{2k+2}}{(2n+2)!}$$

$$Sin^{2}\left(\theta\right)$$

$$Sin^{2}\left(\theta$$